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Question Id : 68634017825 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634017826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SSERit ke oo RS
1. 39 fgd & g vdeg vig
2. 3N P Rd & forg wqdur vig
3. URGR & g §H4u Yig
1. TR A o & g wwdor amg

Options :

68634070401. 1
68634070402. 2
68634070403. 3
68634070404. 4

Question Number : 2 Question Id : 68634017827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR SAaRUl &1 3rad YN 5
1. IRATar-ud
. Hdigd &1 41
RSN
IRCIGERNGE]
Options :
68634070405. 1
68634070406. 2

68634070407. 3
68634070408. 4

[

L]

Question Number : 3 Question Id : 68634017828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Od® &1 [ddd § -

1. g0
U]
. qq

4. Siifdd

| )

L]

Options :

68634070409. 1
68634070410. 2
68634070411. 3
68634070412. 4

Question Number : 4 Question Id : 68634017829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g Wil U Wi 9g B bl Bl 82
1. QAT 1
 HIqYfT Bl
RENNIET]

| )

[#5]

=

IR T 5l

Options :



68634070413. 1
68634070414. 2
68634070415. 3
68634070416. 4

Question Number : 5 Question Id : 68634017830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafeiad s/ &1 yge 4T Y a1egf &1 HHFTYR gy

A, TSR 55T B U WIaT §

B. o S o1 Sty B

C. Ol Pt 7 bl SR A I FRIE S

D. Y1 TREAT 3R droril ¥ &= % TSI T Bl
E. %191 & gRI 81 SiiaT gauT 78 &dl &

A feu 7Y fawedt 7 ¥ Uel ST o1 907 S -

1.C,A.B, D, E

[ ]

AR DUE
3.B.A.D.C.E
4. D, E.A B, C

Options :

68634070417. 1
68634070418. 2
68634070419. 3
68634070420. 4

Question Id : 68634017825 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634017826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SSERit ke oo RS
1. 39 fgd & g vdeg vig
2. 3N P Rd & forg wqdur vig
3. URGR & g §H4u Yig
1. TR A o & g wwdor amg

Options :

68634070401. 1
68634070402. 2
68634070403. 3
68634070404. 4

Question Number : 2 Question Id : 68634017827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR SAaRUl &1 3rad YN 5
1. IRATar-ud
. Hdigd &1 41
RSN
IRCIGERNGE]
Options :
68634070405. 1
68634070406. 2

68634070407. 3
68634070408. 4

[

L]

Question Number : 3 Question Id : 68634017828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Od® &1 [ddd § -

1. g0
U]
. qq

4. Siifdd

| )

L]

Options :

68634070409. 1
68634070410. 2
68634070411. 3
68634070412. 4

Question Number : 4 Question Id : 68634017829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g Wil U Wi 9g B bl Bl 82
1. QAT 1
 HIqYfT Bl
RENNIET]

| )

[#5]

=

IR T 5l

Options :



68634070413. 1
68634070414. 2
68634070415. 3
68634070416. 4

Question Number : 5 Question Id : 68634017830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafeiad s/ &1 yge 4T Y a1egf &1 HHFTYR gy

A, TSR 55T B U WIaT §

B. o S o1 Sty B

C. Ol Pt 7 bl SR A I FRIE S

D. Y1 TREAT 3R droril ¥ &= % TSI T Bl
E. %191 & gRI 81 SiiaT gauT 78 &dl &

A feu 7Y fawedt 7 ¥ Uel ST o1 907 S -

1.C,A.B, D, E

[ ]

AR DUE
3.B.A.D.C.E
4. D, E.A B, C

Options :

68634070417. 1
68634070418. 2
68634070419. 3
68634070420. 4

Sub-Section Number : 2
Sub-Section Id : 686340590
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634017831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y- Y B YaT 4 fpga fae glare 2

. {14 &I AFdd B

—

| )

A AR ST g P
. G Bl
4. 51 3R Y PT

[#%]

Options :



68634070421. 1
68634070422. 2
68634070423. 3
68634070424. 4

Question Number : 6 Question Id : 68634017831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y- Y B YaT 4 fpga fae glare 2

1. ATFd @I AFTAl ®I

| )

A AR ST g P
3. G Bl
39 SR A &

=

Options :

68634070421. 1
68634070422. 2
68634070423. 3
68634070424. 4

Question Number : 7 Question Id : 68634017832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[FafcEd o ga-ea &1 S1aRa® U 61 ¢ -

A 3exg
B. Odl

C. AdpHdgdl
D. Hevid
E. Il

[al

= fu e fdaredl | O Ul 3R &1 944 Sl

1. $ad B
2.%ad C
3. BAd A
4. %Ad D

Options :

68634070425. 1

68634070426. 2

68634070427. 3
68634070428. 4




Question Number : 7 Question Id : 68634017832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[afeREad o uA-cig= &1 31awae® 0 6l ¢ -

A 3exg
B. Odl

C. AdpHdgdl
D. Hevid
E. Il

[al

= fu e fdaredl | O Ul 3R &1 944 Sl

1. $ad B
2.%ad C
3. BAd A
4. %Ad D

Options :

68634070425. 1

68634070426. 2

68634070427. 3
68634070428. 4

Question Number : 8 Question Id : 68634017833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
%A1 BIEE] S8HI & AU Uel dlobliad g -
1. 3 & ¢ IR fahH I
2. 3 & T, el & &M
3. 0% 3[R, 91 1R
4. 71 3R Yo-do

Options :

68634070429. 1
68634070430. 2
68634070431. 3
68634070432. 4

Question Number : 8 Question Id : 68634017833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
%A1 BIEE] S8HI & AU Uel dlobliad g -
1. 3 & ¢ IR fahH I
2. HTH & HTH, Toferdl & gH
3. 0% 3[R, 91 1R
4. 71 3R Yo-do

Options :

68634070429. 1
68634070430. 2
68634070431. 3
68634070432. 4

Question Number : 9 Question Id : 68634017834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafea 5 9 sHYRyT 999 HT 360 6 & ;

p i

Options :

68634070433. 1
68634070434. 2
68634070435. 3
68634070436. 4

Question Number : 9 Question Id : 68634017834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad § ¥ YRy 999 &1 3SR el © ;

p i



Options :

68634070433. 1
68634070434. 2
68634070435. 3
68634070436. 4

Question Number : 10 Question Id : 68634017835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
féd. Herufd Hiax am|
Had Hid gHd gad ||
SRl Ufkiail H PR © :

1. SIUH STBHR

2. QH® AHABR

3 3 ;
@ :

Options :

68634070437. 1

68634070438. 2

68634070439. 3
68634070440. 4

Question Number : 10 Question Id : 68634017835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hfed, Aedfd AR m|
dad Gidd god g | |
SRl ufgasi ¥ SeieR © -

1. I HEDHR

2. UH® DR

3. 909 PR
" .

Options :

68634070437. 1
68634070438. 2
68634070439. 3



68634070440. 4

Question Number : 11 Question Id : 68634017836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 AP qUT 5 TSIDU U Brd B 8 1 F T HR ADhd § | 7 A5 50 H1d ol 4 faAT & A %
IoHd & | B oI 38l &4 § gura $34 & for fooa- asfadl ©f sravgsdr g

1. 940

|

. 280
3. 560
4.412

Options :

68634070441. 1
68634070442. 2
68634070443. 3
68634070444, 4

Question Number : 11 Question Id : 68634017836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 AP qUT 5 TSIDU U Brd B 8 1 F T HR ADhd § | 7 A5 50 H1d ol 4 faAT & A %
IoHd & | B oI 38l &4 § gura $34 & for fooa- asfadl ©f sravgsdr g

1. 940

|

. 280
3. 560
4.412

Options :

68634070441. 1
68634070442. 2
68634070443. 3
68634070444. 4

Question Number : 12 Question Id : 68634017837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



156 %3640% G|

i | oo

1.152.6

| )

. 76.8

4. 54.63

Options :

68634070445. 1
68634070446. 2
68634070447. 3
68634070448. 4

Question Number : 12 Question Id : 68634017837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

156 % 18 % 40% @15 = ?
39 g
1.152.6
2.76.8
3.384
4.54.63
Options :

68634070445. 1
68634070446. 2
68634070447. 3
68634070448. 4

Question Number : 13 Question Id : 68634017838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&R ISR TS5 &1 895 92 1 m? BLal t FTAFG :

4, 22m

Options :

68634070449. 1
68634070450. 2
68634070451. 3
68634070452. 4

Question Number : 13 Question Id : 68634017838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y& RId JAIBR TS5 &1 840 92 xm? GLal ¢ PIAF G :

4. 22m

Options :

68634070449. 1
68634070450. 2
68634070451. 3
68634070452. 4



Question Number : 14 Question Id : 68634017839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

108% 104" _
325 R

1.3.26

| ]

.3-29
3.3.53
4.3.62

Options :

68634070453. 1
68634070454. 2
68634070455. 3
68634070456. 4

Question Number : 14 Question Id : 68634017839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

108° —104° _ ;
32° - 28’

1.3.26

| ]

.3-29
3.3.53
4.3.62

Options :

68634070453. 1
68634070454. 2
68634070455. 3
68634070456. 4

Question Number : 15 Question Id : 68634017840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 g goft 1.2.3.5.7 & YYT 50 UG BT AT &

[
L
=

4. 100

Options :

68634070457 1
68634070458. 2
68634070459. 3
68634070460. 4

Question Number : 15 Question Id : 68634017840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g guft 1.2.3.5.7 FUYF 50 UG BT 3

1.45

b2
L]
=

4. 100

Options :

68634070457. 1
68634070458. 2
68634070459. 3
68634070460. 4

Question Number : 16 Question Id : 68634017841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3t 1S g & srTelt T o It st 2

27,64, 125, 216, 343,

1.416

[ ]
L]
—
| )

3. 686
4, 559

Options :



68634070461. 1
68634070462. 2
68634070463. 3
68634070464. 4

Question Number : 16 Question Id : 68634017841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3t 1S g & srTelt T o It st 2

27,64, 125, 216, 343,

1.416

[ ]
L]
—
| )

3. 686
4, 559

Options :

68634070461. 1
68634070462. 2
68634070463. 3
68634070464. 4

Question Number : 17 Question Id : 68634017842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gy . e O 9 5y fSew ¥ saffda g -

vy =

[

Options :

68634070465. 1
68634070466. 2
68634070467. 3
68634070468. 4

Question Number : 17 Question Id : 68634017842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gy . e O 9 5y fSew ¥ saffda g -

vy =

2

(%]

Options :

68634070465. 1
68634070466. 2
68634070467. 3
68634070468. 4

Question Number : 18 Question Id : 68634017843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BLOCKED &1 §1a¥ YOLXPVW ¥ §. 81% 33! HBR OZFMXS BT Ta=] A BI |
1. LAUNCH
2. DEBATE
3. RESULT

4. LABOUR

Options :

68634070469. 1
68634070470. 2
68634070471. 3
68634070472. 4



Question Number : 18 Question Id : 68634017843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BLOCKED ] Y YOLXPVW ¥ B, 319 I UPR OZFMXS BT Tra BT |

1. LAUNCH

|

. DEBATE
3. RESULT
4. LABOUR
Options :
68634070469. 1
68634070470. 2

68634070471. 3
68634070472. 4

Question Number : 19 Question Id : 68634017844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH ASH| B SR SR Hd GU 3G - gl "U8 ASHI UL [Udl &I Ueald! S &1 Gl §1" 3195 I
Tdl & 1Y 3 do ! &l ol 95w § 2

LA
Tl
3T

4. dg-

[

L]

Options :

68634070473. 1
68634070474. 2
68634070475. 3
68634070476. 4

Question Number : 19 Question Id : 68634017844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UF TSP B AR SR T §U 3G - BT "T8 TSB! 1 U] & UHald! S B Gl g1 315 B
Ul & 1Y 39 To®! &1 ol GrEH € 2

el

2. HIdT
. 37et

4. dg-

L]

Options :

68634070473. 1
68634070474. 2
68634070475. 3
68634070476. 4

Question Number : 20 Question Id : 68634017845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AB.C.D.E.F 3R G U% Wgad URAR & Id ¥a ¢ | 3T 70 916 & YR W 10 SIWE 6 B FTE
& 1Y T IR 8 2

A. U IRGR 7 g farfed dudt &

B. G U TJiguil § 3R 39 Uid abid §

C.BHIUdl C 8. AT AT IR G DI UG T |

D.D. C & TR, TF SIaex 3R E &1 fUdl. 1@ MR §
EFPIHRATIRBBITAS

A fau U fom eyl O 9 T8l 3R &1 99 iy ;

1. dg
2. 3Ppd
3. i
4,41

Options :

68634070477. 1
68634070478. 2
68634070479. 3
68634070480. 4

Question Number : 20 Question Id : 68634017845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AB.C.D.E.F 3R G U% Wgad URAR & Id ¥a ¢ | 3T 70 916 & YR W 10 SIWE 6 B FTE
& 1Y T IR 8 2

A. U IRGR 7 g farfed dudt &

B. G U TJigUfl § 3fR 39 Uid 9dbid ©

C.BHI Ul C 8. AT AMEAI R G DI O g |

D. D. C & TR, TP SIex 3R E F1 fUdl, T W §
EFPIUEATIRBIIHES

i faU 77U faw eyl O 9 T8l ST &1 99 By ;

1. dg-
2. 3{pd
3. oM
4. Y%
Options :
68634070477. 1
68634070478. 2

68634070479. 3
68634070480. 4

Question Number : 21 Question Id : 68634017846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T [P Slfa- aTel WyH YR S 82
1. Hio dfo T
o &
I 1Y R
SRR gty
Options :
68634070481. 1
68634070482. 2

68634070483. 3
68634070484. 4

[

L]

=S

Question Number : 21 Question Id : 68634017846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T [P Slfa- aTel WyH YR S 82
1. Hfo dlo I07

A 89

e Y SR

 HEER gemitEy

Options :

68634070481. 1

68634070482. 2

68634070483. 3
68634070484. 4

[
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Question Number : 22 Question Id : 68634017847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1960 H OPEC TRI1US o] & UgdH BHIfuig ;

A PR

B. 5

C. X®

D. $ad

E. U&hdl 3Rd
F. d-Io[udl

= fau U faaredl | O Ul 3R &1 994 Sl

1. $AAB.C.D.ETF
2. PAAA.B.C.DTE
3. $ddA.B.D.EQF

4. PAAA.C.D.ETF

Options :

68634070485. 1
68634070486. 2
68634070487. 3
68634070488. 4

Question Number : 22 Question Id : 68634017847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1960 H OPEC TRI1US o] & UgdH BHIfuig ;

A PR

B. 33

C. X®

D. $ad

E. O&hal 3RE
F. a-To[Uel

e fou v gt § 9 981 9k &1 997 Sifer -

1. $adB.C.D.ETF
2. AT A.B.C.DTE
3. Pd0A.B.D.ETF
4. HAAA.C.D.ETF

Options :

68634070485. 1

68634070486. 2

68634070487. 3
68634070488. 4

Question Number : 23 Question Id : 68634017848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHAIUNE TE ST °
1. dgaRT g &I
 damg
Qe

4. 1YY

| )

L

Options :

68634070489. 1
68634070490. 2
68634070491. 3
68634070492. 4

Question Number : 23 Question Id : 68634017848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634070489. 1
68634070490. 2
68634070491. 3
68634070492. 4

Question Number : 24 Question Id : 68634017849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIeR 1 R fooan man g -
1. %fires faare &1 wmsil, FHare ok sramal & & wE dare
fafie smigl SR 98 =il & di faaral o1 gogiidl
3. 50 1 AETHRYL, Syl BUTHR off +ft a1 (vIga) &
4. TF Y & AR 15 &1 b

[ )

Options :

68634070493. 1
68634070494. 2
68634070495. 3
68634070496. 4

Question Number : 24 Question Id : 68634017849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR D1 GRUI foar mar g -
1. e faaTe 1 i, Faie SR Sran & &9 ®F ddl e
falim gl 3R 98 Tl & 49 [are! &1 w5
3. Y HT @SN, 31yl HUHR S o a0 (vgw) &
4. TP S & AR 8F &1 G

| )

Options :



68634070493. 1
68634070494. 2
68634070495. 3
68634070496. 4

Question Number : 25 Question Id : 68634017850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ay 2023 DI 79 H 9 by sFaRiyla a¥ & U & FEI S E1 6 2
1, 9154 W
HIET 3T
gl =
4. ad faor
Options :
68634070497. 1
68634070498. 2

68634070499. 3
68634070500. 4

| )

[#5]

Question Number : 25 Question Id : 68634017850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ay 2023 DI 79 H 9 by sFaRiyla a¥ & U & FEI S E1 6 2
1, 9154 W
HIET 3T
gl =
4. ad faor
Options :
68634070497. 1
68634070498. 2

68634070499. 3
68634070500. 4

| )

[#5]

Part B: Applied Geography and Geoinformatics

Section Id : 686340354
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340591
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634017851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a reason for pushing of tribal societies into areas marked by less hospitable
environments?

[y

. They hardly ever work in unison.

[ ]

. They are incapable of working within the framework of state policies.

L¥¥]

. With simple technology they cannot resist onslaught.
4. Because the economic relations function largely within the kinship framework.

Options :

68634070501. 1
68634070502. 2
68634070503. 3
68634070504. 4

Question Number : 26 Question Id : 68634017851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4 & I 17 I SHeId g YR B o1 Fa & a2y [Ed araraRul 8 gea- ST eRU g1 o7

1L ITE R PSP S FUH P PG |

A B gl & g § ord B H SrHam § |

IR A=l & H1Y G 3M1shHUI DI AP el UId |
4. T nfdfer day e STl s e i S s axd § |

Options :

68634070501 1

68634070502. 2

68634070503. 3
68634070504. 4

| ]

[#5]

Question Number : 27 Question Id : 68634017852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Which of the following country has birth rate equal/below the replacement level?

1. Chad
2. Taiwan
3. Niger
4. Angola

Options :

68634070505. 1

68634070506. 2

68634070507. 3
68634070508. 4

Question Number : 27 Question Id : 68634017852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FRffad ¥ 9 $H 9 o= H o7 o) TIaRIT9-1 & & aR1ER / - 82

1.dls

| )
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Options :

68634070505. 1
68634070506. 2
68634070507. 3
68634070508. 4

[#5]

Question Number : 28 Question Id : 68634017853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
helped in the settling of high-latitude areas in Russia and Canada.

1. Government policies in respect of migration.

2. High suitability for habitation

3. Quick maturing varieties of foodgramns

4. Social factors.

Options :



68634070509. 1
68634070510. 2
68634070511. 3
68634070512. 4

Question Number : 28 Question Id : 68634017853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y 3R BTl & 3= &g &3 & S99 § geradl &
1. Ha9- I Hal¥d IRBRT Affadi

 §H[E & ol =1 Sugedd

| e i,
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Options :

68634070509. 1
68634070510. 2
68634070511. 3
68634070512. 4

| )
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Question Number : 29 Question Id : 68634017854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A town will still persist after its establishment, even if the original site proves unsuitable or the original
economic factors in its growth are no longer operating. Which of the following important factor in town
development is responsible for it?

1. inertia

2. raw material

3. fishing

4, site in a low land

Options :

68634070513. 1
68634070514. 2
68634070515. 3
68634070516. 4

Question Number : 29 Question Id : 68634017854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. dafRdd

2. HATHE
3. gdl g ol
4. g YA oTRA

Options :

68634070513. 1
68634070514. 2
68634070515. 3
68634070516. 4

Question Number : 30 Question Id : 68634017855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Industrial countries depend for their imports of raw materials on the agricultural countries.
Reason R: Agricultural countries depend on the industrial countries to absorb their surplus production.
In the light of above statements, choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A

3. Ads true but R is false

4. A is false but R is true

Options :

68634070517. 1
68634070518. 2
68634070519. 3
68634070520. 4

Question Number : 30 Question Id : 68634017855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4 AT APTRTTE

Options :

68634070517. 1
68634070518. 2
68634070519. 3
68634070520. 4

Question Number : 31 Question Id : 68634017856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following distinct phases of India's population growth in chronological order:

A The period of Stagnant Population

B. The period of Rapid Growth

C. The period of High Growth with definite signs of slowing down.
D. The period of Steady Growth

Choose the correct answer from the options given below:

1.LA.B,C.D
2B.C.D.A
3.CCADB
4. ADB.C

Options :

68634070521. 1

68634070522. 2

68634070523. 3
68634070524. 4

Question Number : 31 Question Id : 68634017856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
HRAG ST gfs; ot ey Uraei1sil ol Sieishd | ogaRyd S|

A. RRR S EE= &t 3afd

B. g afS @1 srafdl

c. 11 gH & (1%d Hoodl & WY 3= 9ig B 3@
D. R 9 1 a@fy

I feu e fa@medl 3 ¥ 91 3w @1 99 difuid:

1.LABCD

2

B.C.D, A
3.C,A.D.B
4.A,D.B.C

Options :

68634070521. 1
68634070522. 2
68634070523. 3
68634070524. 4

Question Number : 32 Question Id : 68634017857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The countries of Europe and North America witnessed a population explosion after the Industrial
Revolution.

Statement IT: Asian. African and Latin American countries witnessed a population explosion in the second
half of the twentieth century.

In the light of the above statements. choose the most apprepriate answer from the options given below:

1. Both Statement I and Statement I are correct

2

. Both Statement I and Statement II are incorrect

L

. Statement I is correct but Statement II 1s incorrect

4. Statement I is incorrect but Statement II 1s correct

Options :

68634070525. 1
68634070526. 2
68634070527. 3
68634070528. 4



Question Number : 32 Question Id : 68634017857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR HERumE:
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Options :

68634070525. 1
68634070526. 2
68634070527. 3
68634070528. 4

Question Number : 33 Question Id : 68634017858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct statements about distribution of population in South Asia.

A. South Asia is one of the major regions of very high concentration of population
B. Most of the countries in this region have benefited by the early start of industries.
C. The standard of living in most parts of this region 1s low.

D. All available resources have been utilised to the fullest extent.

Choose the correct answer from the options given below:

1. Aand B only

| )

. B and C only
3. Aand C only
4. C and D only

Options :

68634070529. 1
68634070530. 2
68634070531. 3
68634070532. 4



Question Number : 33 Question Id : 68634017858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1&g ulkm o S [qaR 9 YEldd 95l SuEl o ggarH|

A GIE0T Ui 3= Y gl o WHE & B Y UP o
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C. 59 &7 & 3wt 4 § offa we g g
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i fau 0 f[daredl | ¥ Uel 3R &1 904 Siig;
1. %ad A 3R B
2. PaAB AR C
3. PadASIRC
4.%ad C 3R D

Options :

68634070529. 1
68634070530. 2
68634070531. 3
68634070532. 4

Question Number : 34 Question Id : 68634017859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT

Town situation Example

A [Ports-of-call I |5t Helen
B. |Constriction or obstruction of route| II. |[Copenhagen

C. |Transhipment Point ITI. [Timbuktu

D. [Route Convergence IV [Khartoum

Choose the correct answer from the options given below:

1. A-IV. B-IIL. C-II, D-I

[ ]

CA-TL B-II, C-III. D-IV
3. A-IL B-1. C-IV, D-III
4. A-IL. B-III. C-1. D-IV

Options :

68634070533. 1

68634070534. 2
68634070535. 3



68634070536. 4

Question Number : 34 Question Id : 68634017859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen
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AR O (Tieq e @rep| 1 [Fe gol
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eI fdg 111 [[iTsdhe
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frafatad foweat § I 98t SR &1 997 S«

1. A-IV. B-III. C-II. D-I

ofaw]>

|

CA-L B-II, C-IT1. D-IV
3. A-ILL B-1. C-IV. D-III
4. A-IL. B-IIIL. C-1. D-IV

Options :

68634070533. 1

68634070534. 2

68634070535. 3
68634070536. 4

Question Number : 35 Question Id : 68634017860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the unique advantage of a map?

1. It shows only those objects which are physically present.

[

. It shows details in their visible shapes and sizes.

3. It cannot represent a theoretical surface.

e

. Many visible details in a photograph/on ground can be either removed or suppressed in a map
representation.

Options :

68634070537. 1
68634070538. 2
68634070539. 3
68634070540. 4

Question Number : 35 Question Id : 68634017860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634070537. 1
68634070538. 2
68634070539. 3
68634070540. 4

—
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Question Number : 36 Question Id : 68634017861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A linear road distance on a toposheet with R.F. 1:50.000 is represented by a 40 cm long line. The actual
ground distance of the road will be kilometers.

1.

| )

[ ]
| ]
=

4.10

Options :

68634070541. 1
68634070542. 2
68634070543. 3
68634070544. 4

Question Number : 36 Question Id : 68634017861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634070541. 1
68634070542. 2
68634070543. 3
68634070544. 4

Question Number : 37 Question Id : 68634017862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following projection is best for Navigation Purposes?

1. Simple Cylindrical Projection

[ )

. Conical Projection with Two Standard Parallels
3. Mercator's Projection
4. Zenithal Stereographic

Options :

68634070545. 1

68634070546. 2

68634070547. 3
68634070548. 4

Question Number : 37 Question Id : 68634017862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafafed 3 9 o 91 vay e & g 949y 82
HTERUT §ATBR U&Y
Gl HIFIeh fafe1l aTel YHTHR Wa
OhHeI Y&y
4. Afgq wHe vgy

Options :
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68634070545. 1
68634070546. 2
68634070547. 3
68634070548. 4

Question Number : 38 Question Id : 68634017863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s often used to represent international flow of various commodities?

1. Dot

[ )

. Flow diagram

Lad

. Choropleth
4. Isopleth
Options :
68634070549. 1
68634070550. 2

68634070551. 3
68634070552. 4

Question Number : 38 Question Id : 68634017863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faftr aegall & sRIya Sorv 31 veiRia o= & fau Fafafaa o 9w oF 91w e sia g2
1148
. TaTE 3R
BRIY

| )

L

4. g @1

Options :

68634070549. 1
68634070550. 2
68634070551. 3
68634070552. 4

Question Number : 39 Question Id : 68634017864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%' 15 used to represent on a toposheet?

1. Well

| ]

. Sand Dune

3. Fort

4. Deserted Village
Options :
68634070553. 1
68634070554. 2

68634070555. 3
68634070556. 4

Question Number : 39 Question Id : 68634017864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
X' ] YIAD TR &3+ & for fpar Srar 5
1. 3
2. 91 feea
3, o

4. 39317

Options :

68634070553. 1
68634070554. 2
68634070555. 3
68634070556. 4

Question Number : 40 Question Id : 68634017865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Most of the thematic maps representing the cultural features of the landscape are planimetric
maps.

Reason R: Planumetric maps give more emphasis to other details and limit the relief portrayal.
In the light of above statements, choose the eorrect answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

-2

. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R 1s false
4. A is false but R is true

Options :

68634070557. 1

68634070558. 2

68634070559. 3
68634070560. 4

Question Number : 40 Question Id : 68634017865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634070557. 1
68634070558. 2
68634070559. 3
68634070560. 4



Question Number : 41 Question Id : 68634017866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following shades of a choropleth map in ascending order of values represented.

A,

Choose the correct answer from the options given below:
1.A C.B.D
2.ABCD
3.C, DB, A
4D . C.A.B

Options :

68634070561. 1
68634070562. 2
68634070563. 3
68634070564. 4

Question Number : 41 Question Id : 68634017866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



guiart At &t A 3t s smans @ 39% gR1 weiRid Al & 3R IR Rl $H § safiud Sifod |

A feu 7Y fawedt # 9 Tel SR o1 90 S

1.LA.C.B.D

[ ]

AR ED
3.C.D.B.A
4 D.C.A.B

Options :

68634070561. 1
68634070562. 2
68634070563. 3
68634070564. 4

Question Number : 42 Question Id : 68634017867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Bonne's Projection 1s not suitable for representation of Africa.

Statement II: In Bonne's projection. large chunks of areas falling on the marging away from the central
meridian get distorted in shape.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement [ is incorrect but Statement II 1s correct

Options :

68634070565. 1
68634070566. 2
68634070567. 3
68634070568. 4



Question Number : 42 Question Id : 68634017867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEAEIEEUR
HYF ©: AIPIHT BI G & (U &1 98T SIgad 7ol o
HYF I1: 579 WA T, ST SR 391 T R R R fRa &5 & w2 fowgi ot anefar fadifia & ot €1
SURIG DYl & el . A 34U ¢ fas el § 9 9a8 U 3R &1 99 DI
1. U1 AR 11 ST Tl &

2. BYT1 IR 11 ST Tad &
3. ®YF 1 Fal § difth HY= 11 7T ©

4. YT 1 TTeTd § SifhT HYF 11 TEl 2

Options :

68634070565. 1
68634070566. 2
68634070567. 3
68634070568. 4

Question Number : 43 Question Id : 68634017868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements about Isopleths.

A. Isochrones connect places which take same amount of time to reach from a given centre.
B. Isohels are lines joining places having same amount of salinity in sea water.

C. Lines joining places having equal amount of snow are called Isomfs.

D. Lines joining places having equal amount of cloudines are known as Isobronts.

Choose the correct answer from the options given below:

1. Aand B only

| )

. B and C only
3. Aand C only
4. C and D only
Options :

68634070569. 1
68634070570. 2



68634070571. 3
68634070572. 4

Question Number : 43 Question Id : 68634017868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JHAE @131 & g 4 el HY-] Pl UgaH He|

A TSI U Rl &1 e § 581 (5l F= 4 uga- &1 999 999 Tl 5|
B. T Ofd § @RUA ©1 YA 91 a1d T 51 e arft a1 srsdied g g
C. g 50 ard =i &1 fHe arelt 3@ & A $gd g

D. IO BUr=SHdl aid R o1 e arelt @1 & ggisic ded ol

i faU 71U faedl § § 98l 3R &1 90+ Hiiulu:
1. %ad A 3R B
2. PaAB AR C
3. P AARC
4.%ad C 3R D

Options :

68634070569. 1
68634070570. 2
68634070571. 3
68634070572. 4

Question Number : 44 Question Id : 68634017869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT

LISTI
Map interpretation
procedure
Index Number of
A ltoposheet and the location| L

LISTII
Use

gives the extent and general
landforms of the area

of the area
B Scale of the map and the I zives an idea about drainage and|
" |contour interval " |transportation

zives an idea of the general
C. |[Linear features III. |characteristics of physiographic
divisions

provides the relationship
IV. [between the degree of slope and
the type the land use

Superimpose contour map
" lover a land use map

Choose the correct answer from the options given below:

1. A-IIT. B-1. C-I1. D-IV
2. A-1. B-IV, C-I1. D-III
3. A-IL. B-1. C-II1, D-IV
4. A-IIL. B-1I. C-1. D-IV

Options :

68634070573. 1

68634070574. 2

68634070575. 3
68634070576. 4

Question Number : 44 Question Id : 68634017869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

T 1 A1
i AT &1 gdb &7 BT IR 3R THE
A e IR gt ot ey | U et @ e
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T i faUeHT &1 9E=
C. R &0 - e oaralt @ SR
U Y& IUGRT AR 1) YIH ITTRT & UdR 3R
D. [5HI=g @1 JHfeE &7 IV [ea @t 53 & 7 ey
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fafafad faemedl O O 98t IR &1 994 I ;

1. A-III, B-1. C-1I. D-IV

| )

CA-L B-IV, C-I1. D-III
3. A-ILL B-1. C-III, D-IV
4. A-II. B-11. C-1. D-IV

Options :

68634070573. 1

68634070574. 2

68634070575. 3
68634070576. 4

Question Number : 45 Question Id : 68634017870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s an example of high ecological productivity region?

1. alluvial plains

| B

. deserts
3. snow covered wastelands
4. deep ocean areas

Options :

68634070577. 1
68634070578. 2
68634070579. 3
68634070580. 4

Question Number : 45 Question Id : 68634017870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 7 O o 1 9w TRRUToe T SaTesdl 87 &1 06 IaeRu ¢ 2
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Options :

68634070577. 1
68634070578. 2
68634070579. 3
68634070580. 4

[ ]

L]

e

Question Number : 46 Question Id : 68634017871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is an example of Nekton Marine Community?

1. Algae

[ B

. Diatom
3. Seal
4. Molluscas

Options :

68634070581. 1
68634070582. 2
68634070583. 3
68634070584. 4

Question Number : 46 Question Id : 68634017871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5 @ ©1F 7 e S5 YHE™ B TF 360 87
1. T&df

%

Options :
68634070581. 1



68634070582. 2
68634070583. 3
68634070584. 4

Question Number : 47 Question Id : 68634017872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s NOT included in the eight National Missions of the National Action Plan on Climate
Change (NAPCC) - 2008?

1. The National Mission on Cleanliness

| )

. The National Solar Mission

Lad

. The National Mission for a Green India
4. The National Mission for Sustainable Agriculture

Options :

68634070585. 1
68634070586. 2
68634070587. 3
68634070588. 4

Question Number : 47 Question Id : 68634017872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gﬁﬂ@%ﬁﬂ@ﬂﬁﬁﬁﬂm&m-zoosaﬁmwﬁﬂfﬁmﬁﬁﬁaﬁ@ﬁ?mﬂﬁ%ﬁﬂﬁ

—

=51 DI AP e

TP AR e

BT YR 1 AP e
 Fqd HN BT AP
Options :

68634070585. 1

68634070586. 2

68634070587. 3
68634070588. 4

[

L]

=

Question Number : 48 Question Id : 68634017873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which of the following sustainable development is defined as development which respects ecological
constraints and imperatives of social justice?

1. The Wildlife Protection Act

[ ]

. The Air (Prevention and Control of Pollution) Act
3. The Forest Conservation Act
4. National Environment Policy

Options :

68634070589. 1
68634070590. 2
68634070591. 3
68634070592. 4

Question Number : 48 Question Id : 68634017873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o ¥ @ forg o gad fowrg &1 e fae™g & w=u o uluifid fasar mar & ot aiffufaet ufagst ek
JTHIS O/ & ST BT THH Bl 62

1. §-geitg &0 ffafgs
2. T (FEHUT T SR ABU™) SHaH
3. O Jgfun fgfas
4, 1Y wgiaRr i
Options :
68634070589. 1
68634070590. 2

68634070591. 3
68634070592. 4

Question Number : 49 Question Id : 68634017874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Ecosystem instability refers to that state when an ecosystem is unable to adjust with
environmental changes.

Reason R: Rapid rate of mass felling of trees in a forest ecosystem causes ecosystem instability.,
In the light of above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

-2

. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :

68634070593. 1
68634070594. 2
68634070595. 3
68634070596. 4

Question Number : 49 Question Id : 68634017874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &l YA (40 T §: U 3HYT (Assertion A) & U H [AIRId § dI GERI 34D BRI (Reason R) &
g

APy A: TRIRUfTST fRRT 39 E® & 22idl & o9 Tkiufde! 97 aiau uiadd & 91y
JHEISH T8l SR UM © |

%a‘r@m: g TIRTRUfa®! o2 7 3ifee 7Em | gafl ®1 au i I Hre-1 uiRiRUfa®! SRR &1 HRoT sl
1

SWRIE] BYAT D HalD T, =id U U fohedi § I Iei 3Tk &1 9494 Bl |
1.ARREA TR R R AP TSI TR &

2. ARREH AT SRR A DI TS A= 781 §
3.A9TR. BT R 3T ®

4 ASEIE. APIRTT S

Options :

68634070593. 1
68634070594. 2
68634070595. 3



68634070596. 4

Question Number : 50 Question Id : 68634017875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the various government initiatives in chronological order:

A National Forest Policy

B. Wildlife (Protection) Act

C. National Environment Policy
D. Forest Conservation Act

Choose the correct answer from the options given below:
1.LA.B,C.D
22B.D.A.C
3.C,A.B.D

4.C.B.D. A

Options :

68634070597. 1
68634070598. 2
68634070599. 3
68634070600. 4

Question Number : 50 Question Id : 68634017875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafte TRl Tal &1 Siasy § ouaidd Siford

A TP T i

B. guild (&) gy
C. Y1 gafaryr Hifd

D. G TR&0T AfUaH

- fau Y fawed! & 9 Hel SR o 90 Sifvie:

1A B C D

| ]

.B.D.A.C
3.C,A.B.D
4. C,B.D. A
Options :

68634070597. 1
68634070598. 2



68634070599. 3
68634070600. 4

Question Number : 51 Question Id : 68634017876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: The organic elements of plants and animals are released through decomposition only.
Statement IT: Some portions of organic matter of an ecosystem are released to the atmosphere.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I 1s incorrect but Statement IT is correct
Options :
68634070601. 1
68634070602. 2

68634070603. 3
68634070604. 4

Question Number : 51 Question Id : 68634017876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S ECARICA TR
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1. Y1 3R 11 T TET §

2. HYTI AR I S Tad &
3. HYT 1 el § AftpT Y 11 7T §
4. BYA 1770 § Al HU 119 8

Options :
68634070601. 1



68634070602. 2
68634070603. 3
68634070604. 4

Question Number : 52 Question Id : 68634017877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify correct statements about solid waste pollution.

A. There is a direct negative relationship between the amount of solid wastes produced and the affluence.
B. Use and throwaway culture has been responsible for the acute problem of solid waste pollution.

C. The plastic and polythenes have become nuisance in most of the Indian cities.

D. Most of the used items in developed countries are reused and recycled.

Choose the correct answer from the options given below:
1. B and C only
2. Aand C only
3. Cand D only

4. Aand D only

Options :

68634070605. 1
68634070606. 2
68634070607. 3
68634070608. 4

Question Number : 52 Question Id : 68634017877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST SR UGN & aR H Hel $Y JgdrH|
A, YFTSUAT 3R 31 BRI TG P 7 HGa BUTEHD H64 T
B. B} ST NI &1 itg / 1907 §Hw & foTU WanT &3 3R B § &1 Wi [oaR g
C. HHTY YR el § @i s iR TIeiiiE Ue 99w 89 T 8|
D. fawiea &=t § siftrsisr Suaifiid oy 4=: Suaifid aur 4= afhd gidi & |
i feu 7Tt fawedl © § el STR &1 997 Fiult:
1. HaddB AR C
2. B AR C
3.%ad C IR D

4. HaA A ARD

Options :




68634070605. 1
68634070606. 2
68634070607. 3
68634070608. 4

Question Number : 53 Question Id : 68634017878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I: Air Pollutant LIST IT: Chief Source

[ ead 1. |Petrol filling stations

Benzene II. |electroplating

Cadmium ITI. |construction activities

. |Particulate Matter] IV, [Smelter and refinery processes

EEE

Choose the correct answer from the options given below:

1. A-IV, B-I. C-II, D-III

| E)

AL B-ILL, C-IL D-IV
3. A-IIT, B-IV. C-1. D-II
4, A-II1, B-1. C-II, D-IV

Options :

68634070609. 1
68634070610. 2
68634070611. 3
68634070612. 4

Question Number : 53 Question Id : 68634017878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 i 11 9 i Sife

AT T I
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A [T 1. [G2rd WU =T
B. [§F7 1. [[degdaus
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1. A-TV. B-1. C-I1. D-I1I
2. AL B-1LL C-LL D-IV
3. AL B-IV. C-1. D-1I
4. AL B-1. C-II. D-IV

Options :

68634070609. 1

68634070610. 2

68634070611. 3
68634070612. 4

Question Number : 54 Question Id : 68634017879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Purna river is the tributary of which one of the followmg rivers?

1. Manas

2

. Tista

LFS]

. Tap1
4, Kosi

Options :

68634070613. 1
68634070614. 2
68634070615. 3
68634070616. 4

Question Number : 54 Question Id : 68634017879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



quif =<t 5 7 3 o U &1 Gems e 8 0
1. T
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Options :

68634070613. 1
68634070614. 2
68634070615. 3
68634070616. 4

[ ]
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Question Number : 55 Question Id : 68634017880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

As per Census of India. 2011, which one of the following states has lowest sex ratio?

1. Goa

(B

. Punjab

3. Kerala

4. Rajasthan
Options :
68634070617. 1
68634070618. 2

68634070619. 3
68634070620. 4

Question Number : 55 Question Id : 68634017880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRA B FHI0AL, 2011 F S8R, 5 F 3 59 ve o &1 fomoe sed o &
1. 70tal
2. gollg
3. B
4. TSR

Options :
68634070617. 1



68634070618. 2
68634070619. 3
68634070620. 4

Question Number : 56 Question Id : 68634017881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Allahabad/Prayagraj 1s a typical example of which of the following settlement type?

1. Triangular Settlement

b2

. Star Pattern
3. Radial Pattern

4. Hollow Settlement

Options :

68634070621. 1
68634070622. 2
68634070623. 3
68634070624. 4

Question Number : 56 Question Id : 68634017881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SATEEG/YaFR 9§ ¥ fog e 3fary yeR o1 fafy eeue?

fa—y

YR sfda™m
ORI Wid&Ey

[ ]

L]

. gdIHR HidEy
4, G ffgary

Options :

68634070621. 1
68634070622. 2
68634070623. 3
68634070624. 4

Question Number : 57 Question Id : 68634017882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bhadla Solar Park is located in

1. Tharkhand

b2

. West Bengal
3. Odisha
4. Rajasthan
Options :
68634070625. 1
68634070626. 2

68634070627. 3
68634070628. 4

Question Number : 57 Question Id : 68634017882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S GR U1 I

1. IRES
2. O §7a
3, 3ol
4. oY

Options :

68634070625. 1

68634070626. 2

68634070627. 3
68634070628. 4

Question Number : 58 Question Id : 68634017883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following combination of state and type of shifting cultivation 18 NOT correct?
1. Andhra Pradesh - Podu
2. Assam - Jhum

3. Kerala - Ponam

4. Tamil Nadu - Masha

Options :
68634070629. 1



68634070630. 2
68634070631. 3
68634070632. 4

Question Number : 58 Question Id : 68634017883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 7 9 forg g iR AT iy &1 g I el &2
1. SATUUER - T
- |
. - U
TS - I

Options :

68634070629. 1
68634070630. 2
68634070631. 3
68634070632. 4
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Question Number : 59 Question Id : 68634017884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following Union Territories in descending order of their density of population, as per the Census
of India, 20117

A. Andaman and Nicobar
B. Lakshadweep

C. Puducherry

D. Dadra and Nagar Haveli

Choose the correct answer from the options given below:

1.C.B.D.A

| )

.C.D.A.B
3.C, A, DB,
4.D.C.B.A

Options :

68634070633. 1
68634070634. 2
68634070635. 3
68634070636. 4



Question Number : 59 Question Id : 68634017884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR & SHIUHET 2011 & SER. Y dg AR USRI & S8 99 & R IR 3farigl oH o
G HIFTY|

A, 30 iR ATER

B. W&dIY
C. gl

D. gexT 3R TR gddl
i fau 0 f[daredl | U Uel 3R &1 904 Siiu;

1.C,B.D,A

| ]

.C,D.A.B
3.CA DB,
4 D.C.B.A

Options :

68634070633. 1
68634070634. 2
68634070635. 3
68634070636. 4

Question Number : 60 Question Id : 68634017885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Meanders in Jhelum river in Kashmir valley are caused by local base level provided by erstwhile
larger lake of which the present Dal Lake is a small part.

Statement IT: The word 'Shiwalik' has its origin in the geological formation found in and around a place called
Sivawala near Dehradun.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

[ )

. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement II is incorrect

4, Statement [ 1s incorrect but Statement II is correct

Options :

68634070637. 1
68634070638. 2
68634070639. 3



68634070640. 4

Question Number : 60 Question Id : 68634017885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy fRRumuE:

®Y I: DRUR U1el § A 441 & (08U BT PRI T YR ad ¢ ol U Yayd 3id gRI &1l ¢ sd
Sia forg®T Ue ST YT B |

[ =

®YA I1: 'TWalde Wes & Il 518 o (e G A WH 3R 3H$ 31 UM Uls ol dlel
YA T & YR 55 6

SWRIG HYT &b 3falsd F, Hid fu U fasedl § 3 968 Sugad I &1 99 DI
1. Y1 AR IS 9el §

HYF 1 AR 11 S AT ©

| E)

HYT1 96l § dlih- S 11 7Ted ©

[#5]

4. YT 1 7Ted & SIfp Sy 11 UEl 8

Options :

68634070637. 1
68634070638. 2
68634070639. 3
68634070640. 4

Question Number : 61 Question Id : 68634017886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct?

A. Tata Iron & Steel Company started the production of Steel in 1909.

B. Bhilai Hindustan Steel Limited plant is situated on Haora-Mumbai Railway line.
C. JSW Steel Ltd. is situated in Hisar, Haryana.

D. Korba Thermal Plant supplies power to Korba Aluminium Plant.

Choose the correct answer from the options given below:

1. A and B only

[ ]

. B and C only
3. Cand D only

4. B and D only

Options :

68634070641. 1
68634070642. 2
68634070643. 3
68634070644. 4

Question Number : 61 Question Id : 68634017886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffgd iR Iy agi a0

A. TT2T 3R TS ¥ld drgH1 H Eid &1 3cdrad 1900 H 3= fobgr o
B. [idTs GgeH €id [Alcs Wi gas-qias td 971 W [Ud g
C. . UH.Seg, wid [aics g, shamn 4 [Ra g

D. BRI di §43 & Ral UEHaH 97 &1 fdggd $I S1Y/d &l g

s,

i fau 0 f[daredl | U Uel 3R &1 904 Big;
1. $ad A R B
2. PaAB AR C
3.%ad C 3R D
4.%ad B IR D

Options :

68634070641. 1
68634070642. 2
68634070643. 3
68634070644. 4

Question Number : 62 Question Id : 68634017887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I: Peaks |LIST II: Place/Location|
Saddle 1. |Great Nicobar
Mount Diavole| II. PMiddle Andaman
MMount Koyob | IIT [North Andaman
MNount Thuiller| IV, [South Andaman

e

Choose the correct answer from the options given below:

1. A-III, B-II. C-1. D-IV

| E)

AL B-I1. C-IV. D-1

[#5]

CA-IL B-III. C-1, D-IV
4, A-I1, B-II1. C-IV, D-I

Options :

68634070645. 1
68634070646. 2
68634070647. 3
68634070648. 4

Question Number : 62 Question Id : 68634017887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

I = 10
A [Gsd I e A@er
B. [A1de feaaml 1L [ 3fEaH
C. [Ardc ®idid 1. 331 deaH
D. [HI3T Y5&R IV. [Giamh sfgAH
frafeiad fasedl o 9 9el TR &1 994 S .

1. A-ITT. B-11. C-1. D-IV
2. A-ILL B-II. C-IV, D-I
3. A-IL B-IIL. C-L. D-IV
4. A-IL. B-IIIL. C-IV. D-I

Options :

68634070645. 1

68634070646. 2

68634070647. 3
68634070648. 4



Question Number : 63 Question Id : 68634017888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which one of the following industries 1s most widely distributed?
1. Iron and Steel Industry
2. Sugar Industry
3. Silk Industry

4. Cotton textile

Options :

68634070649. 1
68634070650. 2
68634070651. 3
68634070652. 4

Question Number : 63 Question Id : 68634017888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5 & 9 1 a1 IR Hailde sgad $u H faalkd g2
TS SR ST ST
2. I 3
3. W BN
4. el & I

—

Options :

68634070649. 1
68634070650. 2
68634070651. 3
68634070652. 4

Question Number : 64 Question Id : 68634017889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following countries is the leading exporter of commercial services?

1. USA

[

. India
3. Australia
4. Israel

Options :

68634070653. 1
68634070654. 2
68634070655. 3
68634070656. 4

Question Number : 64 Question Id : 68634017889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9 O I 3 a7 <w aiftifcas darsif @ saof fHafas &2
g I SRS

—

| )

HRd
e

~

[#%]

4. gulHe

Options :

68634070653. 1
68634070654. 2
68634070655. 3
68634070656. 4

Question Number : 65 Question Id : 68634017890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Gulf of Maracaibo is the leading o1l producing area of
1. Iraq
2. Venezuela
3. UAE
4. Oman
Options :

68634070657. 1
68634070658. 2



68634070659. 3
68634070660. 4

Question Number : 65 Question Id : 68634017890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ORIGEd @Ol @1 Ush Y@ dd SdIGd 89 6

1. X

B

g 3R SR
4. A

| ]

[#5]

Options :

68634070657. 1
68634070658. 2
68634070659. 3
68634070660. 4

Question Number : 66 Question Id : 68634017891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Technopolis. the Silicon Forest is located near

1. San Francisco
2. Los Angeles
3. Seattle
4. Chicago

Options :

68634070661. 1

68634070662. 2

68634070663. 3
68634070664. 4

Question Number : 66 Question Id : 68634017891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Nt 4@ (c@=ia). RifteH e & e RE

1. I WIREDT
2. T Uoley
3. fgea
4, TR

Options :

68634070661 1

68634070662. 2

68634070663. 3
68634070664. 4

Question Number : 67 Question Id : 68634017892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. One 1s labelled as Assertion A and the other is labelled as Reason R.

Assertion A: In shifting cultivation. one of the major problems is that cycle of field-rotation becomes shorter
overtime.

Reason R: In different parcels of field-rotation cycle. chemical and organic manures are applied intensively to
maintain soil fertility.

In the light of above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. A s true but R is false
4. A 1s false but R 1s true

Options :

68634070665. 1

68634070666. 2

68634070667. 3
68634070668. 4

Question Number : 67 Question Id : 68634017892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 &l YA (40 T §: U 3HYT (Assertion A) & U H [AIRId § dI GERI 34D BRI (Reason R) &
g
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ST el
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1.ARREA TR R R AP TSI TR &
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Options :

68634070665. 1
68634070666. 2
68634070667. 3
68634070668. 4

Question Number : 68 Question Id : 68634017893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following places from west to east on the Australian Trans-Continental Railway.
A Port Augusta
B. Forrest
C. Broken Hill
D. Kalgoorlie
Choose the correct answer from the options given below:
1.D.B.A.C
2B.D.C. A
3.B.DDA.C
4.B,.C.D.A

Options :
68634070669. 1
68634070670. 2



68634070671. 3
68634070672. 4

Question Number : 68 Question Id : 68634017893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIRETOrTs, UREgTE U Yamr 1R fRya By =l o 9fim 9 qd 3t 3iR sgaf@a Fifsu

A TIE 3T
B. BN
c. e fga
D. Ferdl

- fau Y famedt & 9 Tel ST o 904 Sifvie:
1.D,B,A, C
2.B,D.CA
3.B, D,A,C
4.B,C,D,A

Options :

68634070669. 1
68634070670. 2
68634070671. 3
68634070672. 4

Question Number : 69 Question Id : 68634017894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following land use zones of Von Thunen location theory in sequence from Central City towards
periphery.

A Fuelwood and Timber Production
B. Livestock Ranching

C. Market Gardening

D. Crop farming without fallow

Choose the correct answer from the options given below:

1A B

| )

LA C.B.D
3.C,A.D,B
4 C,A.B.D

Options :
68634070673. 1



68634070674. 2
68634070675. 3
68634070676. 4

Question Number : 69 Question Id : 68634017894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a2 & siateufd Rgia § fau mu 9 «ff Suai @usl ol $=<ig wer 9 oY & iR & pa o
ard Sifer?

A. 54 Ud 3HRA! dd ol 3dlaA
B. {1 H yxUIeH
C. §5R By Bl Iadie (fauurH $iw)
D. Gl 4f# fed Bad Hiy
i fau 0 f[daredl | U Uel 3R &1 904 Siiu;

1.LADBC

[ ]

A C.B.D
3.CCA.D.B
4. C.A.B.D

Options :

68634070673. 1
68634070674. 2
68634070675. 3
68634070676. 4

Question Number : 70 Question Id : 68634017895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the statements which are NOT correct with reference to Weber's Industrial Location Theory:

A. This theory was propounded by French geographer A.Weber in 1909.
B. It assumed entreprencurs as rational and economic men.

C. In locational triangle industry is located at the point of least labour cost.
D. Weber used the idea of critical isodapane in this theory.

Choose the correct answer from the options given below:

1. A and C only

| )

.B and D only
3. Cand D only

4. A and B only



Options :

68634070677. 1
68634070678. 2
68634070679. 3
68634070680. 4

Question Number : 70 Question Id : 68634017895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qR & SiEfe SR sl & da ¥ F oo 0 3 oF 9y 981 781 62

A. 39 g &1 fdure- wifkEl Wiiiaddl U. 99X & gRI1 1900 H fhar mar o |
B. U8 $od-1 DRl & [ o4 U@ dlidhd 3R @ AFa © |

C. sfafufa BIYe ¥ I a9 99 9Td fd5 R RUa gars |

D. 59 fgid § d&R A ATdaTdH S AEAIS- & fdar &1 ugiT f&ar |

i f4U 77U fasedl § 9 98l SR &1 99 St

1. Pad A 3R C
2. HIAB AR D
3. HFAC ARD
4. Hadd A IR B

Options :

68634070677. 1

68634070678 2

68634070679. 3
68634070680. 4

Question Number : 71 Question Id : 68634017896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1 LISTII
(Agriculture System) {Main Crop)
A |Intensive Subsistence Farming] [ |Rice
B. |[Commercial Grain Farming I1. |Grape
C. |Plantation Agriculture III. [Wheat
D. Mediterranean Agriculture IV. |Sugarcane

Choose the correct answer from the options given below:

1. A-I. B-I'V. C-II, D-III

[ ]

AL B-1L C-I1. D-IV

L]

AL B-1L C-IV, D-I1
4. A-1. B-III, C-IV. D-II

Options :

68634070681. 1
68634070682. 2
68634070683. 3
68634070684. 4

Question Number : 71 Question Id : 68634017896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

@lﬁl g

i) LRI

A [Te- (alg 3 1. T
B. [dIfUifod® 3[ iy I |3
C. RHu & 1M [fig
D. [{HZErRE B IV. [
frafaad fawedl & ¥ 9e SR &1 989 iy ;

1. A-I. B-T'V. C-I1. D-I1I
2. AL B-L. C-IL. D-IV
3. AL B-1. C-IV. D-1I
4. A-1. B-II. C-IV. D-II

Options :

68634070681. 1

68634070682. 2

68634070683. 3
68634070684. 4



Question Number : 72 Question Id : 68634017897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following seismic zones is excluded from Seismic zone map of India published in 20027
1. Zone-II
2. Zone-I
3. Zone-IV
4. Zone-V

Options :

68634070685. 1
68634070686. 2
68634070687. 3
68634070688. 4

Question Number : 72 Question Id : 68634017897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e T 9 ford U WU & &1 2002 T YBTRId YR & Heb Ul &= T T i e fovar 71
1. Q1T
2. G-I
3. W1V
4, §H-v

Options :

68634070685. 1
68634070686. 2
68634070687. 3
68634070688. 4

Question Number : 73 Question Id : 68634017898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following is the chairperson of National Disaster Management Authority (NDMA)?

1. Home Minister. Govt. of India

[

. President of India

L]

. Prime Minister

4. Defence Minister
Options :
68634070689. 1
68634070690. 2

68634070691. 3
68634070692. 4

Question Number : 73 Question Id : 68634017898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 & 9 S AP 3Tug] WeeE 3R (NDMA) BT s Bldl 82

1. 78 Tl URd TWHR
2. YRd PIApafd
3. Uy 1Al
4. T A

Options :

68634070689. 1

68634070690. 2

68634070691. 3
68634070692. 4

Question Number : 74 Question Id : 68634017899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statement about Tropical Cyclone is NOT correct?

1. Latent heat released by warm moist air supply energy to tropical cyclones.

2. In India, the force of tropical cyclone decreases with inerease in distance from Bay of Bengal and
Arabian Sea towards interior parts.

3. The abnormal rise of sea water due to tropical cyclone 1s called 'Storm Surge'.
4. Most intense rainfall occurs in the eye of the tropical cyclone.

Options :



68634070693. 1
68634070694. 2
68634070695. 3
68634070696. 4

Question Number : 74 Question Id : 68634017899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WG CEHg Tdard & aR § (8 T 9 B 91 $YF Jel 7ol 52
T 3% §a1 gRI BIS! T8 T %1 SWUsieatia Imard &1 ol ®1 i $2dl ol

YRT H 10 @] @ISt 3R 3RE IR J SaR® HET &1 3R 31 98- & 1Y SUMGicay Idmard
&1 g1 Y eidl ol 6|

—

| )

(5]

 SUBICEE Ahdd & BRI GRRI &d & SHH SUR B B! 31T STl il § |
4, ATt T8 a1 SuiGfeasdia aemard & J& H gl o

Options :

68634070693. 1
68634070694. 2
68634070695. 3
68634070696. 4

Question Number : 75 Question Id : 68634017900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Approximately, how much percent land area of India 1s vulnerable to landslide hazard?

1. 15 percent

b2

. 25 percent
3. 37 percent
4. 56 percent

Options :

68634070697. 1
68634070698. 2
68634070699. 3
68634070700. 4

Question Number : 75 Question Id : 68634017900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR &1 TTHT fobaT wforera & JTae Sifey gue g2
1. 15 gfa<rd

[ ]
| ]
s

4. 56 Ufa=d

Options :

68634070697. 1
68634070698. 2
68634070699. 3
68634070700. 4

Question Number : 76 Question Id : 68634017901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A:The devastations caused by Tsunami waves is more near the coast than deep sea.

Reason R: As Tsunami wave enters shallow water, its wavelength gets reduced but the period remains
unchanged which increases the height of waves.

In the light of above statements, choose the eorreer answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

-2

. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :

68634070701. 1
68634070702. 2
68634070703. 3
68634070704. 4

Question Number : 76 Question Id : 68634017901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIEE ﬁiﬁmﬂﬁ %’ U@ HYHYA (Assertion A) & Wﬂﬁ@ﬁ%?ﬁ mmw (Reason R) &
=g T
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HROT R: Od G A6 S U H Ha2 Bl 8, SHB! I D1 AHTg DH Bl Wldl ¢ Alcb] FH
Suididd Ted & ford 9 @el 1 ars 1 gis sidl 6|

SRIGd BYA! D AP T, =id U U fohed! § I Iei 3Tk &1 9494 By |
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2. ARREH A S SRR A DI TS A= 781 §
3.A9R. BT R 3GT®

4 ASTIE. APIRTT S

Options :

68634070701. 1
68634070702. 2
68634070703. 3
68634070704. 4

Question Number : 77 Question Id : 68634017902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following part of states in descending order according to their vulnerability to severity of drought.

A. Parts of Eastern Rajasthan

B. Northern Parts of Rajasthan

C. Northern Haryana

D. Parts of Rajasthan west of Aravali Hills

Choose the correct answer from the options given below:
1LAB.D.C
2.C.B.A.D
3.3D.AB.C
4.D.C.B.A
Options :
68634070705. 1

68634070706. 2
68634070707. 3



68634070708. 4

Question Number : 77 Question Id : 68634017902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@ Pt HIordl & Uid FdeT2ied & SR o= 9 Iwdi & GFG / I 1 SHaie! shH § suaieyd
®Ifog|

A TaT o & el
B. 3R IO H & e

C. IRl gRamn
D. ST H 3R1ad! UeTe! ¥ Uidd ard fesy

A feu 7Y fawedt # 9 Tel SR o1 90 S

1.LAB.D.C

| ]

.C,B.A.D
3.3D.A.B,C
4 D.C.B.A

Options :

68634070705. 1
68634070706. 2
68634070707. 3
68634070708. 4

Question Number : 78 Question Id : 68634017903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The distinction between hazard and disaster 1s made based on magnitude of destruction and
damage caused by it.

Statement II: The human made disasters have mereased both in their numbers and magnitudes over the years.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrectQ
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
Options :

68634070709. 1
68634070710. 2



68634070711. 3
68634070712. 4

Question Number : 78 Question Id : 68634017903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEG] Eil?ffé‘qﬂﬁ %' Ud AHYHYT (Assertion A) & Wﬁ%ﬁ?ﬂ%&_‘ﬁ =Rkl 3P BRI (Reason R) &

04

T YT A: TIRGT 3R ATUST S Te7 3R G- & 9oy 3R 5% gRI o g &ifd & SMUR R &

ol &

HRUIR: fed $& auf § aHe Hfifa sl # gen sk ohom i afE g5 8
SRITd HUAT & HTdld 1, g Su T fasedi O 9 Iet 3 &1 999 Sifoln

1. HUF 1 Al 11 G Tl &

2

L¥N]

Options :

68634070709. 1
68634070710. 2
68634070711. 3
68634070712. 4

Question Number : 79 Question Id : 68634017904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

YT AP I EH A &
FHYFT TS e AP e §
4. YA 1 7TEd § A Y 11 U6 @

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I: Disaster LIST IT: Tvpe
A Drought I. |Aquatic

B. [Subszidence II. JArtmospheric
C. |Tsunami I11. |Biological
D. Bird Flu IV, |Terrestrial

Choose the correct answer from the options given below:

1. A-L. B-II. C-III. D-IV

| E)

[#5]

. A-TV. B-II, C-I. D-III

CA-IL B-IV, C-1, D-ITI

4. A-IV, B-III. C-II. D-I

Options :




68634070713. 1
68634070714. 2
68634070715. 3
68634070716. 4

Question Number : 79 Question Id : 68634017904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen
Tt 1 e I
(3TT<D) HPT)
A g I [sciE
B. [ygl@ II. [@gHUSTd
C. [gamH! 111 [Sifda
D. [§5 W] IV [HifH®
fafatad fawedl § I 9Et S &1 997 DI «

1. A-I. B-II, C-III, D-IV
2 A-IV. B-11, C-1. D-III
3. A-IL B-IV., C-1, D-III
4. A-IV. B-III. C-II. D-I

Options :

68634070713. 1
68634070714. 2
68634070715. 3
68634070716. 4

Question Number : 80 Question Id : 68634017905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct?

A. Unlike other natural disasters, the causes of floods are not well established.
B. In India, flood management is based exclusively on structural measures

C. Unlike other natural disasters, human beings play an important role in the genesis as well as spread of
tloods.

D. Floods in China, India and Bangladesh are frequent and disasterous.
Choose the correct answer from the options given below:

1. A and C only

2. B and D only

3. C and D only

4. Aand D only

Options :

68634070717. 1
68634070718. 2
68634070719. 3
68634070720. 4

Question Number : 80 Question Id : 68634017905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffgd iR Iy agi a0

A. 3T UIide sTagrsdl § fiyd. 91 & PRI el I YRN8 g

B. YRd . 91¢ Has= G3I ag U SIE-Id® SUTdl 4R Sf1efd ¢ |

C. 3= YIplde SMugri 4 fid, aTgl Bl Icdfd iR HERUl & HI-a Us He@yul HHPT 3al Hedl |
D. 91, YRd IR SFAe H §1¢ IR §R 3Tdl § IR A¥PRI |

i fau 0 f[daredl | U Uel 3R &1 904 Big;
1. Fad AR C
2. %ad B 3R D
3.%ad C 3R D
4. PTAASRD

Options :

68634070717. 1
68634070718. 2
68634070719. 3
68634070720. 4




Question Number : 81 Question Id : 68634017906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In 2021, the two states with most domestic tourists visiting were

1. Gujarat and Madhya Pradesh

| )

. Odisha and Kerala

LF¥]

. Punjab and Himachal Pradesh

4. Tamil Nadu and Uttar Pradesh
Options :
68634070721. 1
68634070722. 2

68634070723.3
68634070724. 4

Question Number : 81 Question Id : 68634017906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2021 7, WAl N ped gAsi d aieg d
1. TORTd 94T Heg US=
2. HifSTraur &3
3. UoiTd T fedm=e udw

4. AT YT STR Ua

Options :

68634070721. 1
68634070722. 2
68634070723. 3
68634070724. 4

Question Number : 82 Question Id : 68634017907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



India's ranking in the global Travel and Tourism Development Index (TTDI) is in 2021.

1. 5th

[ B

. 54th
3. 158th

4. 96th

Options :

68634070725. 1
68634070726. 2
68634070727. 3
68634070728. 4

Question Number : 82 Question Id : 68634017907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

_fa_'LLu

dl%y® g1 quT wed [doTd (TTDI) gadic 4 ay 20218 YRd P HH ©H

1. 591
2. 544
3. 158di
4. o6dl
Options :
68634070725. 1
68634070726. 2

68634070727. 3
68634070728. 4

Question Number : 83 Question Id : 68634017908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The leading purpose of travel for Indian Nationals' Departures (INDs) from India in 2021 was

1. Indian Diaspora

[ )

. Education
3. Business and Professional
4. Pilgrimage

Options :
68634070729. 1



68634070730. 2
68634070731. 3
68634070732. 4

Question Number : 83 Question Id : 68634017908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2021 H. YR T YRAIT AFTRST & TR (INDs) &1 370l HR07 47 .

1. YR SERGR]

2. fam

3. AN 3R EdiS
4. 1@ am

Options :

68634070729. 1
68634070730. 2
68634070731. 3
68634070732. 4

Question Number : 84 Question Id : 68634017909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In India, the most popular (Rank 1 as per Ticketed) centrally Protected ticketed monuments for foreign visitors
during financial year 2021-22 was

1. Group of Monuments. Mamallapuram
2. Taj Mahal
3. Agra Fort

4. Qutab Minar

Options :

68634070733. 1
68634070734. 2
68634070735. 3
68634070736. 4

Question Number : 84 Question Id : 68634017909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR H fad @y 2021-22 # faa=h W%%ﬂéﬁuwmwﬁﬁﬁw areT 9ad dle iy (fefde
P P YR R UYH HH ) TR U

L HIHAIYRH, HRP dHe

[

A H8d
 HPRT 1 fba
G CRIEIN

L]

=

Options :

68634070733. 1
68634070734. 2
68634070735. 3
68634070736. 4

Question Number : 85 Question Id : 68634017910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

MICE is an acronym for

1. Meetings. Incentives. Conventions and Exhibitions

(B

. Meetings, Information, Camp and Entertaimment

[F5]

. Mobile Information. Communication and Enterprise
4, Multi-Investment Consortium of Energy

Options :

68634070737. 1

68634070738. 2

68634070739. 3
68634070740. 4

Question Number : 85 Question Id : 68634017910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
MICE &1 Hiaulf 5 & .
S, TG, §HT 3R USRIl

3D, G, Y IR JAREH

fa—y

[

L]

e AT I3 <H

3l &l 9g Fow ¥g

=S



Options :

68634070737. 1
68634070738. 2
68634070739. 3
68634070740. 4

Question Number : 86 Question Id : 68634017911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Ministry of Tourism 1s developing Niche products in tourism sector to promote India as a 363
days' destination.

Reason R: Indian tourism is characterised by 'seasonality’.
In the light of above statements, choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R 1s correct

Options :

68634070741. 1
68634070742. 2
68634070743. 3
68634070744. 4

Question Number : 86 Question Id : 68634017911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIEE ﬁiﬁmﬂﬁ %’ U@ HYHYA (Assertion A) & Wﬂﬁ@ﬁ%?ﬁ mmw (Reason R) &
=g T

HTUPYT A: URA Bl 365 &7 & Tded & T4 H HaeH $- gq Tde Ty Ted 89 § 3dl(Niche)
3G &1 [qe X 3B 5

BRVT R: YR e BT qem Hesaar 2

SWRIdd BYAl & 3fal® H, 7 fqu 7 fas<al & 9 el S &1 99 Pif|
1. AR R G 9T SR R. A P! Tgl U ©

ASIRREAI IS IR R, AP U5l ORA el §

b2

L¥ 5]

ATIE, APTR T B

4 AIIE. APIRTT R

Options :

68634070741. 1
68634070742. 2
68634070743. 3
68634070744. 4

Question Number : 87 Question Id : 68634017912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following countries in descending order in terms of number of Foreign Tourist Arrivals (FTAs) in
India (2021).

A. Bangladesh

B. United Kingdom
C.USA

D. Canada

Choose the correct answer from the options given below:
1.B.D.C.A
22AC,BD
3.C,A.B.D
4.B.D.A.C
Options :
68634070745. 1

68634070746. 2
68634070747. 3



68634070748. 4

Question Number : 87 Question Id : 68634017912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd H (2021) faa=l yded S (FTA) & STUR W HafaRad <= &1 /arig! o9 § ogaiRyd &1
A. SRS

B. g5 fdhirsH
C. TYgad Iy 3HRP]
D. SIS

Ty

i fau 0 f[daredl | U Uel 3R &1 904 Big;

1.B.D,.C.A

b2

A C.B.D
3.CCA.B.D
4 B.D.A.C

Options :

68634070745. 1
68634070746. 2
68634070747. 3
68634070748. 4

Question Number : 88 Question Id : 68634017913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following statements about tourism in India caretully and identify the correct statements:

A. India Tourism Development Corporation (ITDC) is a Public Sector Undertaking.
B. Swadesh Darshan Scheme was started in 2017-18.
C. Incredible India 2.0 campaign was started in 2017,
D. 'Atithidevo Bhava' campaign was launched to enhance domestic tourism in India.

Choose the correct answer from the options given below.
1. Aand B only
2. Aand C only
3.B and D only
4. A and D only
Options :

68634070749. 1
68634070750. 2



68634070751. 3
68634070752. 4

Question Number : 88 Question Id : 68634017913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR H Tiea ¥ Tafed g oAl &1 OF 3 U3 3R 981 HuEl &1 Ug= 39 |

A, YRdTg wied fdem A (1TDe) U Iasi-ie & &1 SuHH B

B. WY Y TIST 2017-18 H TR &1 115 ot |

C. 3Ted YR 2.0 U 2017 H TR fbar 7 41|

D. ' MY &at Ha ' ifEE YRa § €l Uhed o1 9@ & fog U™ &7 717 41|

i f4U 77U fasedl § 9 98l SR &1 99 St

1. had A 3R B
2. FTAAIRC
3. %gd B 3RD
4. HAA A ARD

Options :

68634070749. 1

68634070750. 2

68634070751. 3
68634070752. 4

Question Number : 89 Question Id : 68634017914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Tourist Place) (State)

A |Kumbhalgarh | 1. [West Bengal

B. [Bhimbetka 1. JTharkhand

C. [Deoghar III. |Rajasthan

D_ [Belur IV, IMadhya Pradesh|

Choose the correct answer from the options given below:

1. A-II. B-IV. C-III. D-I

| ]

A-IV, B-III, C-I, D-I1

3. A-IV. B-11, C-1, D-III

4. A-I1, B-IV. C-I1, D-I



Options :

68634070753. 1
68634070754. 2
68634070755. 3
68634070756. 4

Question Number : 89 Question Id : 68634017914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

I 1 T 0
@des R
A [P 1. [afged s
B. [HiHeed I [gRwErs
C. [eamR 10T, Rrore
D_[i V. [Fsg U
fAafaRad foweal & I Ogt SR &1 994 Difog -

1. A-ILL B-IV. C-III. D-1I
2. A-IV. B-II1. C-I. D-II
3. A-IV. B-I1. C-I, D-III
4. A-III. B-IV. C-I1. D-1

Options :

68634070753. 1

68634070754. 2

68634070755. 3
68634070756. 4

Question Number : 90 Question Id : 68634017915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following is NOT a guiding principle of National Environment Policy 2006 of India?

1. The Right to Development

[ )

. Economic growth is at the centre of Sustainable Development.
3. The Precautionary Approach
4. Economic Efficiency (including Polluter Pays)

Options :

68634070757. 1

68634070758. 2
68634070759. 3



68634070760. 4

Question Number : 90 Question Id : 68634017915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafafad o @ oF 91 YRd &1 Ay gaiaru Hifd 2006 &1 arfaxis Rgid =8 82
1. faT8 &1 iR
e gfE gad e & $3 W e

. Uglardl 3UrTy

1 FarTdT (FENUIRdl gRT YT gied)

Options :

68634070757. 1
68634070758. 2
68634070759. 3
68634070760. 4

| )

(5]

=

Question Number : 91 Question Id : 68634017916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

India's updated Nationally Determined Contribution (NDC) commitment to reduce Emissions Intensity of its
GDP by percent by 2030.

1.45

[
L
=

4. 30

Options :

68634070761. 1
68634070762. 2
68634070763. 3
68634070764. 4

Question Number : 91 Question Id : 68634017916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR & S PTG TR R FeiRa FeF (NDC) 1 agar 2030 off St it $t S Te-d1 &
U= 0 AT

I
Ly
(=)

Options :

68634070761. 1
68634070762. 2
68634070763. 3
68634070764. 4

Question Number : 92 Question Id : 68634017917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following report sustainable development was defined by World Commission on Environment
and Development in 19877

1. The Population Bomb

[ ]

. The Limits to Growth

3. Our Commeon Future
4. The Wildlife (Protection) Act

Options :

68634070765. 1
68634070766. 2
68634070767. 3
68634070768. 4

Question Number : 92 Question Id : 68634017917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafeiad 5 2 foom faid o fay ggiarur ik Aer ST g1 1987 # Gad Uieviig fdem o aiyifed
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[ ]
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Options :

68634070765. 1
68634070766. 2
68634070767. 3
68634070768. 4

Question Number : 93 Question Id : 68634017918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Clean Development Mechanism (CDM) 1s one of the three "flexibility mechanisms" introduced in the

1. Montreal Protocol
2. Rio+5
3. Kyoto Protocol

4. Basel Convention

Options :

68634070769. 1
68634070770. 2
68634070771. 3
68634070772. 4

Question Number : 93 Question Id : 68634017918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A A= ufgaredi - § 4 U W= f[dh1 Uidhdr (cDM) &l o 3Ry fooar Ty o1

L - L)

1. gifcad WieidbId
Tgi+s
3. {IC Uieipid

[ ]

4. 9O HdHYE



Options :

68634070769. 1
68634070770. 2
68634070771. 3
68634070772. 4

Question Number : 94 Question Id : 68634017919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to WMO's Global Annual to Decadal Climate Update Report 2023. the global temperatures are
likely to surge to record levels in the next five years due to

1. Greenhouse gases and Ozone depletion

| )

. La Nina and Ukraine War
3. Greenhouse gases and El Nmno
4. Increased intensity of solar winds
Options :
68634070773. 1
68634070774. 2

68634070775. 3
68634070776. 4

Question Number : 94 Question Id : 68634017919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fa% AT W3 (WMO's) 1 e a3 GRH 10 Saarg, SEfd RUTe 2023 & SR ST 9ig a9l
T TdiEd dIHE Raie TR R 3OHS 961 $1 RIS -

AT AU g g
T B3 T ay T A
4. IR g1 &t Tg-dT & S rdl

—

[

L]

Options :

68634070773. 1
68634070774. 2
68634070775. 3
68634070776. 4

Question Number : 95 Question Id : 68634017920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: [PCC Climate Change 2023: Synthesis report mentioned 2.1°C global warming above pre-
industrial levels as on today.

Reason R: More than a century of burning fossil fuels as well as unequal and unsustainable energy and land
vse have led to global warming.

In the light of above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true but R 18 NOT the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :

68634070777. 1
68634070778. 2
68634070779. 3
68634070780. 4

Question Number : 95 Question Id : 68634017920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEE ﬁiﬁmﬂﬁ %’ U@ HYHYA (Assertion A) & Wﬂﬁ@ﬁ%?ﬁ mmw (Reason R) &
=g T

STUBUT A: 375, OT, T, T, STerarg g 2023 B Y RUE & AR a00E 8 U-Hsdd S
74- 3N WR Y HWR 2.1°C B

PRI R: U Ycleg] 9 T 318 Sid o Uoda & A1 SFAH 3R S8ad FHoll SR 4 Iuan = 2
Hsdiia S faar gl

SRIGd BYAT D AP T, =id 4T U fohedi § I Iei 3tk &1 9494 i |
1.ARREA TR R R AP TSI TR &
2. ASIRR A TUE 3R R. AP Tol ARAT el &

3. AT S, AfTR 39T E

4 ASHIE. APIRTT R

Options :

68634070777. 1
68634070778. 2
68634070779. 3



68634070780. 4

Question Number : 96 Question Id : 68634017921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following events in correct chronological order.

A. Publication of 'Our Common Future' report.

B. United Nations Millennium Development Goals

C. Future We Want - outcome document.

D. World Summit on Sustainable Development. Johannesburg.
E. Agenda 21 Action Plan

Choose the correct answer from the options given below:

1LABCDE

b2

AEB.D.C
33JEB.C.D.A
4 A.C.B.D.E
Options :
68634070781. 1
68634070782. 2

68634070783. 3
68634070784. 4

Question Number : 96 Question Id : 68634017921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ geT13ll 1 Hel Bid o T oaiyd iy
A TR DI TR RAIE T UHEH
B. Ug& Y P Yol [apE Ied
C. §ERI YIqS-gRu &Iaw

D. Jdd {9 IR 3fi® e, Sier=at
E. USIST 32 ST TiaT

- fau Y fawedt & ¥ Hel ST o 90 Sivie:
1.A,B,C,D,E
2.A,E,B,D,C
3.E,B.C,D,A
4.A,C,B,D.E

Options :



68634070781. 1
68634070782. 2
68634070783. 3
68634070784. 4

Question Number : 97 Question Id : 68634017922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The United Nations Environment Programme (UNEP) was established in June 1992.

Statement IT: The World Commission on Environment and Development was established by the UN in 1987
and it was led by G.H. Brundtland. the then Prime Minister of Sweden.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

[ )

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II is false

4, Statement [ 1s false but Statement II is true

Options :

68634070785. 1
68634070786. 2
68634070787. 3
68634070788. 4

Question Number : 97 Question Id : 68634017922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634070785. 1
68634070786. 2
68634070787. 3
68634070788. 4

Question Number : 98 Question Id : 68634017923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statements carefully and identify the correct statement/statements:

A Millennium Development Goals were identified in Rio Conference and they were to be aclhieved by
2000.
. Those living on less than 1.5 dollar a day were identified as poor in MDG-1.

B
C. MDGs included 8 Goals.
D. Goal 8 under MDGs 1s to Ensure Environmental Sustainability.

Choose the correct answer from the options given below:

1. C only

2

.A.Band C only
3. C and D only
4. D only

Options :

68634070789. 1
68634070790. 2
68634070791. 3
68634070792. 4



Question Number : 98 Question Id : 68634017923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634070789. 1

68634070790. 2

68634070791. 3
68634070792. 4

Question Number : 99 Question Id : 68634017924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Sustainable Development Goal) (Theme)
A |Goal 2 I. |Gender Equality
B. |Goal 3 IT. |[Life Below Water
C. |Goal 10 III. |Zero Hunger
D. |Goal 14 IV. [Reduced Inequalities

Choose the correct answer from the options given below:
1. A-ITT. B-IV. C-II. D-1
2. A-ILL B-1. C-IV. D-II
3. A-IV. B-111. C-I1. D-I
4. A-IV. B-1I. C-1. D-III
Options :

68634070793. 1
68634070794. 2



68634070795. 3
68634070796. 4

Question Number : 99 Question Id : 68634017924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
T 1 I

(ad fapre Se=m) kLD
A [a&T -2 N SUEIGE
B [d&d 5 1L [url & i siia
C. [d&-10 1L |30 Yl
D. [q1&8 -14 V. [721 55 A
fFrafarad fomed & 9 96 SR @1 924 DI ;

1. A-IIL. B-IV. C-I1. D-1
2. A-III. B-1. C-IV, D-II
3. A-IV. B-IIL. C-I1. D-1
4. A-IV. B-11. C-1. D-III

Options :

68634070793. 1

68634070794. 2

68634070795. 3
68634070796. 4

Question Number : 100 Question Id : 68634017925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following mining areas 1s NOT correctly matched with country.

1. Krivoi Rog-Ukraine

| )

. Mesabi - USA

LIPS ]

. Chuquicamata - Chima
4. Katanga - Democratic Republic of Congo

Options :

68634070797. 1
68634070798. 2
68634070799. 3
68634070800. 4



Question Number : 100 Question Id : 68634017925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634070797. 1
68634070798. 2
68634070799. 3
68634070800. 4



